
*
+

Find# Part Description Specifications/Model Part # Qty
4 Cord Strain Relief Black Molded 02-00005 ea. 1
2 Motor                  * NO LONGER AVAILABLE 02-00151 ea. 1

27 Motor                  * 230v 1/5 Hp 900RPM 2spd w/5MFD (230v UK) 02-00230 ea. 1
7 Switch 115/230V Rocker 2 Speed-w/ splashguard 02-00258 ea. 1
20 Washer Rivet-1/8" (Kickstand) 03-00035 ea. 4
19 Rivet Rivet-1/8" Alum AAP4-8 (Kickstand) 03-00036 ea. 4
13 Screw 1/4-20 x 3/8" Hwh w/ Nyloc Patch 03-00105 ea. 4

Insert 1/4-20 x .50 x .50 Hh Al (Housing) 03-00106 ea. 4
10 Rubber Foot Round, 3/16" x 1.25" x 5/8" Saniprene Blk 03-00131 ea. 2
11 Rivet 3/16 X 5/8 Tri Fold AL/AL 03-00204 6
15 Screw Pan Hd Phil #6-3/8" Zinc Plated 03-00566 ea. 8
17 Cable Tie 11" 03-00813 ea. 1
16 Screw #6 x 7/8" Php Zinc Plated 03-01003 ea. 4

Bag Shipping 06-00045 ea. 1
Box 20.75" x 16" x 18.75", Shipping 06-00050 ea. 1
Manual Owners, 115V TurboDryer 07-00106 ea. 1
Label Model/Serial Number 230v CE Turbos 07-00161 ea. 1
Declaration Conformity, 230v products 07-00173 ea. 1
Manual Owners, TurboDryer 230v 07-00213 ea. 1
Label Model/Serial Number 115v UL/CUL 07-00258 ea. 1

21 Label                  ** Product Santana SX     (F199) 07-00279 ea. 1
22 Label                  ** Product Santana SX     (F199-SP) 07-00306 ea. 1

Warranty Card 07-00309 ea. 1
24 Label                  ** Product Santana SX     (F199-SM) 07-00314 ea. 1
14 Snout Grill ABS Blk Sahara/Rebel 09-00033-01 ea. 1
3 Power Cord Assy 16/3 SJTW 5-15P 25 Ft 09-00039 ea. 1
6 Grill, Venturi Side Wheel Side 09-00042-01 ea. 1
1 Housing              *** Poly Fisher Blue Santana SX (F199) 09-00043S ea. 1
23 Housing              *** Poly Turf Green Santana SX (F199-SP) 09-00043-01S ea. 1
25 Housing              *** Poly Teal Green Santana SX (F199-SM) 09-00043-03S ea. 1
29 Housing              *** Poly Burgundy Red Santana SX (F199-BUR) 09-00043-05S ea. 1
8 Switch Plate ABS Blk Rebel SX 09-00044-01 ea. 1
5 Side Screen Motor Side Sahara/Rebel 09-00045-01 ea. 1
26 Power Cord Assy 230v, 25',  3 x 1.5MM H05VV (F199-230v UK) 09-00054 ea. 1
9 Wheel  Centrifugal 9.62 x 9.53 Polypropylene S137 1
18 Kickstand Black 11 1/4" x 3" 09-00160 ea. 1

     in order to upgrade or complete repair

  - multiple components to choose from for different models: voltage, size, color, etc.
  - if you order this item, you may need to order additional items marked with same number of +'s

Santana SX TurboDryer
(Models: F199, F199-GRN, F199-230V UK, F199-SM, F199-SP, F199-PR, F199-BUR, F199-US)  

Symbol Definition

Santana SX (F199) Page 1 of 2



Santana SX Pictorial Drawing

Santana SX (F199) Page 2 of 2


